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10. Bringing together organizational members from marketing, accounting, human resources, and finance to
work on a task would be an example of a team. (A) cross-functional; (B) temporary; (C)

specific: (D) functional.

11. What does the research evidence suggest about the statement, “Happy workers are productive workers™?
(A) It’s false. Instead, productive workers are least happy. (B) There is strong supportive evidence since
the Hawthorne Studies. (C) Job satisfaction is more easily increased by managers helping employees
become more productive. (D) Actually, there is no relationship between the two variables.

12. A matrix structure violates a key element of organizational design called (A)unity of command; (B)chain
of command; (C)span of management;(D) decentralization.

13. According to Herzberg’s Motivation-Hygiene theory, which of the following is considered a motivator?
(A) pay: (B) working conditions; (C) hygiene factors; (D) responsibility.

14. Management by objectives (MBO) is a management system in which the first steps are setting specific
performance goals that are . (A) established that can be easily accomplished; (B) jointly
determined by employees and their managers; (C) determined by top management with clarity so that the
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objectives are clear to even the most incompetent employee: (D) developed in such a manner that the

employees are self-directed and do not need supervision.

15. When people judge someone on the basis of the perception of a group they are a part of, they are using
the shortcut called - (A) stereotyping; (B) self-serving bias; (C) assumed similarity; (D) the halo

effect.
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1. An organization’s use of outside firms for providing necessary products and services.
2. The number of subordinates a manager can direct efficiently and effectively.
3. Is the process of locating, identifying, and attracting capable applicants.
4. A physically-dispersed team that uses computer technology to collaborate without concern for distance.

space, or time in order to achieve a common goal.
Adams’s theory that employees perceive what they get from a job situation (outcomes) in relation to
what they put into it (inputs) and then compare their input-outcome ratio with the input-outcome ratios

of relevant others.
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